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av(t)

—4u(t) = u(t) 1o —

dt =
a) Calculate the total response to the unit step input. &
b) Calculate the steady state response if any.

2
Given the second order 10: dd‘;gt) +2 d:ét) +v(t) = u(t)

a) Find the response to Zero input for given initial conditions: v(0)=0,v'(0) =1 v
b) For what value of t is the response at its maximum? '
¢) Is the system stable? % S

d*v(t) _dv(r)
+5 +6v(t) =u(t

7 s (1) =u(r) A

a) Calculate the total response to the sinusoid of angular frequency w:
sin(wt), t20

b) Calculate the steady state response.

In problem 3,
a) Express the amplitude of the steady state response in terms of w, at what
value of w is the amplitude of the steady state response a maximum?
b) In problem 3 what is the corresponding phase shift in terms of w?
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